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Chapter 10

One-Sample Tests of Hypothesis

1.
a.
Two-tailed, because the alternate hypothesis does not indicate a direction.


b
Reject Ho when z does not fall in the region from – 1.96 and 1.96

c.
(1.2, found by 
[image: image1.wmf]4950

(5/36)
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-
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d.
Fail to reject Ho

e.
p = 0.2302, found by 2(0.5000 – 0.3849). There is a 23.02% chance of finding a z value this large by “sampling error” when Ho is true. (LO 5, LO 6, LO 7)
2.
a.
One-tailed, because the alternate hypothesis indicates a greater than direction.


b.
Reject Ho when z > 2.326

c.
4, found by 
[image: image2.wmf]1210

(3/36)
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d.
Reject Ho and conclude that ( >10


e.
 The p-value is close to 0. So there is very little chance Ho is true. (LO 5, LO 6, LO 7)
3.
a.
One-tailed, because the alternate hypothesis indicates a greater than direction.


b.
Reject Ho when z > 1.65


c.
1.2, found by 
[image: image3.wmf]2120
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d.
Fail to reject Ho at the 0.05 significance level.


e.
p = 0.1151, found by 0.5000 – 0.3849. There is an 11.51% chance of finding a z value this large or larger by “sampling error” when Ho is true. (LO 5, LO 6, LO 7)
4.
a.
One-tailed, because the alternate hypothesis indicates a less than direction.


b.
Reject Ho when z < (1.96


c.
(2.67, found by 
[image: image4.wmf]215220
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d.
Reject Ho and conclude that the population mean is less than 220 at the 0.025 significance level.


e.
p = 0.0038, found by 0.5000 – 0.4962. There is less than 0.5% chance Ho is true.
(LO 5, LO 6, LO 7)
5.
a.
Ho: ( = 60,000

H1: ( ( 60,000


b.
Reject Ho if z < (1.96 or z > 1.96


c.
(0.69, found by 
[image: image5.wmf]59,50060,000

(5000/48)
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d.
Do not reject Ho

e.
p = 0.4902, found by 2(0.5000 – 0.2549). Crosset’s experience is not different from that claimed by the manufacturer. If the Ho is true, the probability of finding a value more extreme than this is 0.4902. (LO 6)
6.
a.
Ho: ( ( 3
H1: ( < 3


b.
Reject Ho if z < (1.645


c.
(1.77, found by 
[image: image6.wmf]2.753.0

(1/50)
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d.
Reject Ho

e.
p = 0.0384, found by (0.5000 – 0.4616). We conclude that the mean waiting time is less than three minutes. When Ho is true, the probability of obtaining a value smaller than (1.77 is 0.0384. (LO 6)
7.
a.
Ho: ( ( 6.8
H1: ( <6.8


b.
Reject Ho if z < (1.65


c.
(7.2, found by 
[image: image7.wmf]6.26.8
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d.
Ho is rejected


e.
p = 0. The mean number of DVD’s watched is less than 6.8 per month. If Ho is true, there is virtually no chance of getting a statistic this small. (LO 6)
8.
a.
Ho: ( ( 80
H1: ( >80


b.
Reject Ho if z > 2.326

c.
8.86, found by
[image: image8.wmf]35
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d.
Reject Ho

e.
p = 0.0000. The mean amount of tips per day is larger than $80.00. If Ho is true, the probability of obtaining a sample mean this far above 80 is virtually zero. (LO 6)
9.
a.
Reject Ho when t > 1.833


b.

[image: image9.wmf]1210
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c.
Reject Ho. The mean is greater than 10. (LO 6)
10.
a.
Reject Ho if t < (3.106 or t > 3.106


b.

[image: image10.wmf]407400
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c.
Reject Ho, the mean does not equal 400. (LO 6)
11.
Ho: ( ( 40
H1: ( > 40
Reject Ho if t > 1.703



[image: image11.wmf]4240
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Reject Ho and conclude that the mean number of calls is greater than 40 per week. (LO 6)
12.
Ho: ( ( 42.3
H1: ( < 42.3
Reject Ho if t < (1.319



[image: image12.wmf]40.642.3
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Reject Ho. The mean assembly time is less than 42.3 minutes. (LO 6)
13.
Ho: ( ( 40,000

H1: ( > 40,000

Reject Ho if t > 1.833


[image: image13.wmf]50,00040,000

3.16

(10,000/10)

t

-

==



Reject Ho and conclude that the mean income in Wilmington is greater than $40,000. (LO 6)
14.
a.
The population of complaints follows a normal probability distribution.
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b.
The assumption of normality appears reasonable.

c.
 H0 :( ( 15 H1 :( < 15 Reject H0 if t < –1.729
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Reject the null hypothesis. The mean number of complaints is less than 15. (LO 6)
15.
a.
Reject Ho if t < (3.747


b.

[image: image16.wmf]17
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c.
Do not reject Ho. We cannot conclude the population mean is less than 20.


d.
Between 0.05 and 0.10, about 0.065 (LO 7)
16.
a.
Reject Ho if t < (2.571 or t > 2.571


b.

[image: image18.wmf]111.667100
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c.
Reject Ho. The population mean is not equal to 100


d.
less than 0.01 (between 0.001 and 0.01) (LO 7)
17.
Ho: ( ( 1.4

H1: ( > 1.4

Reject Ho if t > 2.821



[image: image19.wmf]1.61.4

2.928

0.216/10

t

-

==



 QUOTE [image: image20.png]


 
Reject Ho and conclude that the water consumption has increased. The p-value is between 0.01 and 0.005. There is a slight probability (between one chance in 100 and one chance in 200) this rise could have arisen by chance. (LO 7)
18.
Ho: ( ( 2160

H1: ( > 2160

Reject Ho if t > 2.306



[image: image21.wmf]2172.442160
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Reject Ho. The mean chlorine shelf life has increased. The p-value is less than 0.005. (LO 7)
19.
Ho: ( ( 50

H1: ( > 50

Reject Ho if t > 1.796

[image: image22.wmf]82.550
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Reject Ho and conclude that the mean number of text messages is greater than 50. The p-value is less than 0.05. There is a slight probability (less than one chance in 20) this could happen by chance. (LO 7)
20.
Ho: ( ( 53

H1: ( > 53

Reject Ho if t > 1.761



[image: image23.wmf]56.453.0
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Reject Ho. The mean number of surveys conducted is greater than 53. The p-value is less than 0.005. (LO 7)
21.
a.
Ho is rejected if z > 1.645


b.
1.09, found by 
[image: image24.wmf]0.750.70
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c.
Ho is not rejected (LO 8)
22.
a.
Ho is rejected if z < (1.96 or z > 1.96


b.
(2.24, found by 
[image: image25.wmf]0.300.40
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c.
Ho is rejected (LO 8)
23.
a.
Ho: ( ( 0.52

H1: ( > 0.52


b.
Ho is rejected if z > 2.326

c.
1.62, found by 
[image: image26.wmf]0.56670.52

0.52(0.48)

300

z

-

=



d.
Ho is not rejected. We cannot conclude that the proportion of men driving on the Ohio Turnpike is larger than 0.52. (LO 8)
24.
Ho: ( ( 0.33

H1: ( > 0.33


Ho is rejected if z > 2.326

2.00, found by 
[image: image27.wmf]0.400.3333
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Ho is not rejected. The proportion of students with jobs is not larger at your school. (LO 8)
25.
a.
Ho: ( ( 0.90

H1: ( < 0.90


b.
Ho is rejected if z < (1.282

c.
(2.67, found by 
[image: image28.wmf]0.820.90
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d.
Ho is rejected. Less than 90% of the customers receive their orders in less than 10 minutes. (LO 8)
26.
Ho: ( ( 0.50

H1: ( < 0.50


Ho is rejected if z < (1.645


(0.40, found by 
[image: image29.wmf]0.480.50
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Ho is not rejected. The proportion of students changing their major has not changed. (LO 8)
27.
Ho: ( = $45,000

H1: ( ( $45,000


Reject Ho if z < –1.645 or z > 1.645
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Reject Ho. We can conclude that the mean salary is not $45,000. p-value is 0.0672, found by 2(0.5000 – 0.4664). (LO 7)
28.
a.
Ho: ( ( 50

H1: ( < 50
Reject Ho if z ( (2.33


[image: image31.wmf]48.18
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Ho is not rejected. The mean weight is not less than 50 pounds.

b.
Mr. Rutter can use the z distribution as the test statistic because the population standard deviation (( = 3) is known. And the population is normal.

c.
p-value = 0.5000 – 0.4726 = 0.0274 (LO 6)
29.
Ho: ( ( 10

H1: ( <10
(LO 6)
Reject Ho if z < (1.645



[image: image33.wmf]9.010.0
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Reject Ho. The mean weight loss is less than 10 pounds. p-value = 0.5000 – 0.4943 = 0.0057.

30.
Ho: ( ( 16

H1: ( >16


Reject Ho if z > 1.645


[image: image34.wmf]16.0516.0
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Reject Ho. The cans are being overfilled. p-value is very close to 0. (LO 6)
31.
Ho: ( ( 7

H1: ( < 7

Reject Ho if t < –1.677 at the 5% significance level
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Do not reject the null hypothesis. West Virginia students sleep no less than the typical American. The p-value is between 0.05 and 0.10. (LO 6)
32.
Ho: ( ( 90

H1: ( >90

Reject Ho if t > 1.290
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Reject Ho.
 At the 0.10 level we can conclude the selling time has increased. (LO 6)
33.
Ho: ( ≥ 3.13

H1: ( < 3.13

Reject Ho if t < –1.711


[image: image37.wmf]2.863.13
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We fail to reject Ho and conclude that the mean number residents is not necessary less than 3.13. (LO 6)
34. 
Ho: ( ( 40

H1: ( < 40

Reject Ho if t < (1.671
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 Ho is not rejected. The p-value is between 0.05 and 0.10. We cannot conclude the mean leisure time is less than 40 hours per week. (LO 7)
35.
Ho: ( ( 14
H1: ( > 14
Reject Ho if t > 2.821
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Reject Ho. The mean rate charged is greater than 14 percent. (LO 6)
36.
H0 :( ( 6 H1 :( < 6 Reject H0 if t < –2.998

Assume the population is normally distributed.
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Do not reject H0. The mean rate could be 6.0 percent.

The p-value is between .05 and .10. (LO 6)
37.
H0 :( = 3.1 H1 :( ( 3.1 
Reject H0 if t < –2.201 or t > 2.201.

Assume the population is normally distributed.
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Do not reject H0. The mean could be 3.1 cups. The p-value is between 0.05 and 0.10. (LO 6)
38.
Ho: ( ( 25

H1: ( >25

Ho is rejected if z > 2.624
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s = 1.5337
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Ho is rejected. The mean number of patients is more than 25. The p-value is less than 0.01. (LO 7)
39.
H0 :( ( 6.5 H1 :( < 6.5
Reject H0 if t < –2.718


Assume the population is normally distributed.
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Do not reject H0. The mean rate could be 6.5.

The p-value is between .05 and .10. (LO 6)
40.
H0 :( ( 3.5 H1 :( < 3.5
Reject H0 if t < –1.746


Assume the population is normally distributed.


[image: image47.wmf]2.9553.5
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Reject H0. The mean time is less than 3.5 hours. The p-value is less than 0.0005. (LO 6)
41.
Ho: ( =0
H1: ( ( 0
Reject Ho if t < (2.110 or t > 2.110


[image: image48.wmf]X
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Reject Ho. The mean gain or loss does not equal 0. The p-value is less than 0.01, but greater than 0.001. (LO 6)
42.
Ho: ( ( 4.5%

H1: ( > 4.5%

Reject Ho if t > 1.796



[image: image50.wmf]X
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Do not reject Ho. The mean number rate of return is not more than 4.5%. (LO 6)
43.
H0 :( ≤ 100 H1 :( > 100 
Reject H0 if t > 1.761.

Assume the population is normally distributed.


[image: image52.wmf]109.4100
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Reject H0. The mean is greater than 100.
The p-value is between 0.005 and 0.0005. (LO 6)
44.
Ho: ( ( 370

H1: ( > 370

Reject Ho if t > 2.681


[image: image53.wmf]388.31370

2.939

22.46

13

t

-

==

 
Reject the null. The fare is higher. p-value < 0.01 (LO 7)
45.
Ho: ( = 1.5

H1: ( ≠1.5
Reject Ho if t is not between -3.25 and 3.25
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Do not reject Ho. This data does not contradict the publisher.
46.
Ho: ( = 27000

H1: ( ≠27000
Reject Ho if t is not between -2.797 and 2.797
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Do not reject Ho. This data does not contradict the report.
47.
a.
This is a binomial situation with both the mean number of successes and failures equal 
to 22.5, found by 0.5(45).

b. 
Ho: π = 0.50

H1: π ≠ 0.50



c.
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Reject Ho if z is not between –2.576 and 2.576.
d.

[image: image57.wmf]31
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  We fail to reject the null hypothesis. This data 
does not prove the coin flip is biased.
e.
The p-value is 0.0114, found by 2(0.5000 – 0.4943). A value this extreme will 
happen about once out of ninety times with a fair coin. (LO 7)
48.
Ho: ( = 0.63

H1: ( ≠ 0.63


Ho is rejected if z is not between 1.96 and 1.96


The test statistic is 2.51, found by
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Ho is rejected. The proportion has increased. (LO 8)
49.
Ho: ( ( 0.60

H1: ( >0.60

Ho is rejected if z > 2.326
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Ho is rejected. Ms. Dennis is correct. More than 60% of the accounts are more than 3 months old. (LO 8)
50.
Ho: ( ( 0.55

H1: ( >0.55

Ho is rejected if z > 1.645 
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Ho is not rejected. We cannot conclude that more than 55% of the commuters would use the route. (LO 8)
51.
Ho: ( ( 0.44

H1: ( >0.44

Ho is rejected if z > 1.645 
[image: image62.wmf]0.4800.44
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Ho is rejected. We conclude that there has been an increase in the proportion of people wanting to go to Europe. (LO 8)
52.
a.
This is a binomial situation with both the mean number of successes (6, found by 
60(0.10)) and failures (54, found by 60(0.90)) greater than five.

b. 
Ho: π = 0.10

H1: π ≠ 0.10



c.
Reject Ho if z is not between –1.960 and 1.960. 
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 We fail to reject the null hypothesis. This data does 
not show a lower failure rate at Short’s slots.
d.
The p-value is 0.1970, found by 2(0.5000 – 0.4015). A value this extreme will 
happen about once out of five times with that failure rate. (LO 7)
53.
Ho: ( ( 0.20

H1: ( >0.20

Ho is rejected if z > 2.326
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Ho is rejected. More than 20 percent of the owners move during a particular year. 

p-value = 0.5000 – 0.4977 = 0.0023 (LO 8)
54.
Ho: ( ( 10
H1: ( < 10
Reject Ho if t < (1.895
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 Do not reject Ho. The cost is not less than $10,000. (LO 6)
55.
Ho: ( = 0.40

H1: ( > 0.40
Reject Ho if z is greater than 2.326
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 We fail to reject the null hypothesis. This data does not show college students are more likely to skip breakfast. (LO 8)
56. 
Ho: ( ≥ 0.5

H1: ( <0.5

Ho is rejected if z < –1.645
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 Ho is rejected.

The proportion of alumni who supports the coach is less than fifty percent. (LO 8)
57.
Ho: ( ≥ 0.0008

H1: ( <0.0008

Ho is rejected if z < –1.645
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 Ho is not rejected.

 This data does not prove there is a reduced fatality rate. (LO 8)
58.
Ho: ( ≥ 69

H1: ( < 69

Reject Ho if t < –1.306
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Reject Ho and determine the mean water usage is considerably less in Legacy Ranch. (LO 6)
59.
Ho: ( ( 8

H1: ( <
 8

Reject Ho if t < (1.714
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Do not reject the null. The time is not less. (LO 6)
60.
a.
Ho: ( ( 220.0

H1: ( > 220.0

Reject Ho if t > 2.362
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Do not reject Ho. We cannot conclude that the mean selling price is more than $220,000. The 
p-value is over 0.10

b.
Ho: ( ( 2100

H1: ( > 2100

Reject Ho if t > 2.362
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Reject Ho. The mean size of the home is greater than 2100 square feet. The p-value is 

near 0.
c.
Ho: ( ( 0.60

H1: ( > 0.60


Ho is rejected if z > 1.645

 Seventy-one homes have an attached garage, so p = 71/105 = 0.6762
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Do not reject Ho. We cannot conclude that more than 60 percent of the homes have an attached garage.



 The p-value is 0.0559, found by 0.5000 – 0.4441.


d.
Ho: ( ≤ 0.60

H1: ( > 0.60



Ho is rejected if z > 1.660


p = 67/105 = 0.6381
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Do not reject Ho. We cannot conclude that more than 60 percent of the homes have a pool.



The p-value is 0.2119, found by 0.5000 – 0.2881. (LO 6, LO 8)
61.
a.
Ho: ( = 80
H1: ( ( 80



Reject Ho if t is not between –2.045 and 2.045.
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Do not reject the null.
The mean payroll could be $80.0 million.
b.
Ho: ( ( 2,000,000
H1: ( > 2,000,000
Reject Ho if t is > 1.699.
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Reject the null. The mean attendance was 

more than 2,000,000. (LO 6)

62.
a.
Ho: ( = 840
H1: ( ( 840 
Reject Ho if t is not between –2.640 and 2.640.
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Do not reject the null. The mean number of miles traveled could be 840.

The p-value is between 0.05 and 0.02. If the mean number of miles traveled is actually 840, a sample this extreme will happen about four times out of one hundred similar tests.

b.
Ho: ( ( 500
H1: ( > 500
Reject Ho if t > 1.664.
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We fail to reject the null. The mean maintenance cost could be less than $500.

 
c. 
Ho: ( = 0.4

H1: ( ≠ 0.4


Ho is rejected if z is not between –1.645 and 1.645
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Ho is not rejected.
The proportion of busses more than 8 years old could be forty percent.

The p-value is 0.3682, found by 2(0.5000 – 0.3159). A value this extreme will happen about once out of three times. (LO 6)
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��������Histogram (with Normal Curve) of Complaints�������������������������������������������������������������������������������������������������$1�������0��Histogram (with Normal Curve) of Complaints�������������������������������������������������������������������������������������;; HMF V1.24 TEXT
;; (Microsoft Win32 Intel 386)  HOOPS 4.50-11 I.M. 3.00-11
(Selectability "windows=off,geometry=on")
(Visibility "on")
(Color_By_Index "Geometry,Face Contrast" 1)
(Color_By_Index "Window" 0)
(Window_Frame "off")
(Window -1 1 -1 1)
(Camera (0 0 -5) (0 0 0) (0 1 0) 2 2 "Stretched")

;; (Driver_Options "disable input,light scaling=0,subscreen=(-0.999875,0.795127
;; ,-0.999833,0.580169),subscreen stretching,no update interrupts,use window id
;; =3116")
(Edge_Pattern  "---")
(Edge_Weight 1)
(Face_Pattern "solid")
(Heuristics "no related selection limit")
(Line_Pattern  "---")
(Line_Weight 1)
(Marker_Size 0.421875)
(Marker_Symbol ".")
(Text_Font "name=arial-gdi-vector,no transforms,rotation=follow path")
(User_Options "mtb aspect ratio=0.660413,graphicsversion=6,worksheettitle=\"Wor
ksheet 1\",optiplot=0,builtin=1,statguideid=1002,toplayer=0,angle=0,arrowdir=0,
arrowstyle=0,polygon=0,isdata=0,textfollowpath=1,ldfill=0,solidfill=0,3d=0,useb
itmap=0,canbrush=0,brushrows=0,light scaling=0.00000,sessionline=19")
(Segment "include" ())
(Front ((Segment "figure1" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "viewinfigurecoord=0")
    (Front ((Segment "region" (
	(Front ((Segment "figure box" (
	    (Visibility "polygons=off,lines=off")
	    (Color_By_Index "Face" 1)
	    (Color_By_Index "Face Contrast,Line,Edge" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.99995 -0.99995 0) (0.99995 -0.99995 0) (0.99995 
		 0.99995 0) (-0.99995 0.99995 0) (-0.99995 -0.99995 0)))))))
	  (Segment "data box" (
	    (Visibility "faces=off")
	    (Color_By_Index "Face" 1)
	    (Color_By_Index "Face Contrast,Line,Edge" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.679966 -0.59997 0) (0.79996 -0.59997 0) (0.79996 
		 0.59997 0) (-0.679966 0.59997 0) (-0.679966 -0.59997 0)))))))
	  (Segment "legend box" ())
	  (Segment "legend" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (User_Options "viewinfigurecoord=1")
	    (Front ((Segment "bar1" ())))))))))
      (Segment "object" (
	(Front ((Segment "frame" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (Front ((Segment "tick" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.02844 sru")
		    (Segment "" (
		      (Text 0.677109 -0.653967 0 "16")))
		    (Segment "" (
		      (Text 0.471405 -0.653967 0 "15")))
		    (Segment "" (
		      (Text 0.265701 -0.653967 0 "14")))
		    (Segment "" (
		      (Text 0.059997 -0.653967 0 "13")))
		    (Segment "" (
		      (Text -0.145707 -0.653967 0 "12")))
		    (Segment "" (
		      (Text -0.351411 -0.653967 0 "11")))
		    (Segment "" (
		      (Text -0.557115 -0.653967 0 "10")))
		    (Segment "major" (
		      (Segment "" (
			(Front ((Polyline ((0.677109 -0.59997 0) (0.677109 
			     -0.639968 0)))))))
		      (Segment "" (
			(Front ((Polyline ((0.471405 -0.59997 0) (0.471405 
			     -0.639968 0)))))))
		      (Segment "" (
			(Front ((Polyline ((0.265701 -0.59997 0) (0.265701 
			     -0.639968 0)))))))
		      (Segment "" (
			(Front ((Polyline ((0.059997 -0.59997 0) (0.059997 
			     -0.639968 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.145707 -0.59997 0) (-0.145707 
			     -0.639968 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.351411 -0.59997 0) (-0.351411 
			     -0.639968 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.557115 -0.59997 0) (-0.557115 
			     -0.639968 0)))))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.02844 sru")
		    (Segment "" (
		      (Text -0.719964 0.461681 0 "5")))
		    (Segment "" (
		      (Text -0.719964 0.25335 0 "4")))
		    (Segment "" (
		      (Text -0.719964 0.0450199 0 "3")))
		    (Segment "" (
		      (Text -0.719964 -0.16331 0 "2")))
		    (Segment "" (
		      (Text -0.719964 -0.371641 0 "1")))
		    (Segment "" (
		      (Text -0.719964 -0.579971 0 "0")))
		    (Segment "major" (
		      (Segment "" (
			(Front ((Polyline ((-0.679966 0.461681 0) (-0.709965 
			     0.461681 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.679966 0.25335 0) (-0.709965 
			     0.25335 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.679966 0.0450199 0) (-0.709965 
			     0.0450199 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.679966 -0.16331 0) (-0.709965 
			     -0.16331 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.679966 -0.371641 0) (-0.709965 
			     -0.371641 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.679966 -0.579971 0) (-0.709965 
			     -0.579971 0)))))))))))))))
	      (Segment "grid" ())
	      (Segment "reference" ())
	      (Segment "axis" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.03681 sru")
		    (Segment "" (
		      (Text 0.059997 -0.745137 0 "Complaints")))
		    (Segment "" (
		      (Front ((Polyline ((-0.659967 -0.59997 0) (0.779961 
			   -0.59997 0)))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.03681 sru")
		    (Text_Path 6.12303e-17 1 0)
		    (Segment "" (
		      (Selectability "polygons=on!,text=off")
		      (Visibility "polygons=off")
		      (Text_Alignment "v>")
		      (Text_Path 0 1 0)
		      (User_Options "angle=90,polygon=3,linect=1,charct=9")
		      (Polygon ((-0.8534 -0.17037 0) (-0.8534 0.157711 0) 
			 (-0.777475 0.157711 0) (-0.777475 -0.17037 0)))
		      (Renumber (Text -0.796457 -0.17037 0 "Frequency") 1 "L")
		      (Segment "raw" (
			(Visibility "off")
			(Renumber (Text 0 0 0 "Frequency") 1 "L")))))
		    (Segment "" (
		      (Front ((Polyline ((-0.679966 -0.579971 0) (-0.679966 
			   0.579971 0)))))))))))))))))
	  (Segment "data" (
	    (Window_Pattern "clear")
	    (Window -0.66 0.78 -0.58 0.58)
	    (User_Options "isdata=1,viewinfigurecoord=1")
	    (Front ((Segment "bar1" (
		(Visibility "faces=on")
		(Color_By_Index "Face" 15)
		(Face_Pattern "solid")
		(User_Options "ldfill=0")
		(Segment "" (
		  (Visibility "faces=on")
		  (Color_By_Index "Face" 15)
		  (Face_Pattern "solid")
		  (User_Options "ldfill=0,solidfill=1")
		  (Segment "" (
		    (Polygon ((0.71425 -0.99995 0) (0.99995 -0.99995 0) 
		       (0.99995 -0.28157 0) (0.71425 -0.28157 0) (0.71425 
		       -0.99995 0)))))))
		(Segment "" (
		  (Visibility "faces=on")
		  (Color_By_Index "Face" 15)
		  (Face_Pattern "solid")
		  (User_Options "ldfill=0,solidfill=1")
		  (Segment "" (
		    (Polygon ((0.42855 -0.99995 0) (0.71425 -0.99995 0) 
		       (0.71425 0.0776205 0) (0.42855 0.0776205 0) (0.42855 
		       -0.99995 0)))))))
		(Segment "" (
		  (Visibility "faces=on")
		  (Color_By_Index "Face" 15)
		  (Face_Pattern "solid")
		  (User_Options "ldfill=0,solidfill=1")
		  (Segment "" (
		    (Polygon ((0.14285 -0.99995 0) (0.42855 -0.99995 0) 
		       (0.42855 0.796001 0) (0.14285 0.796001 0) (0.14285 
		       -0.99995 0)))))))
		(Segment "" (
		  (Visibility "faces=on")
		  (Color_By_Index "Face" 15)
		  (Face_Pattern "solid")
		  (User_Options "ldfill=0,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.14285 -0.99995 0) (0.14285 -0.99995 0) 
		       (0.14285 0.796001 0) (-0.14285 0.796001 0) (-0.14285 
		       -0.99995 0)))))))
		(Segment "" (
		  (Visibility "faces=on")
		  (Color_By_Index "Face" 15)
		  (Face_Pattern "solid")
		  (User_Options "ldfill=0,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.42855 -0.99995 0) (-0.14285 -0.99995 0) 
		       (-0.14285 0.436811 0) (-0.42855 0.436811 0) (-0.42855 
		       -0.99995 0)))))))
		(Segment "" (
		  (Visibility "faces=on")
		  (Color_By_Index "Face" 15)
		  (Face_Pattern "solid")
		  (User_Options "ldfill=0,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.71425 -0.99995 0) (-0.42855 -0.99995 0) 
		       (-0.42855 -0.99995 0) (-0.71425 -0.99995 0) (-0.71425 
		       -0.99995 0)))))))
		(Segment "" (
		  (Visibility "faces=on")
		  (Color_By_Index "Face" 15)
		  (Face_Pattern "solid")
		  (User_Options "ldfill=0,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.99995 -0.99995 0) (-0.71425 -0.99995 0) 
		       (-0.71425 -0.64076 0) (-0.99995 -0.64076 0) (-0.99995 
		       -0.99995 0)))))))))))))))))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)
	(Front ((Segment "text1" (
	    (Color_By_Index "Text" 1)
	    (Text_Alignment "^*")
	    (Text_Font "name=arial-gdi-vector,size=0.0435 sru")
	    (Segment "" (
	      (Text 0 0.853682 0 "Histogram of Complaints, with Normal Curve"))
	     )))
	  (Segment "line1" (
	    (Color_By_Index "Face Contrast,Line,Edge" 2)
	    (Edge_Pattern  "---")
	    (Edge_Weight 2)
	    (Line_Pattern  "---")
	    (Line_Weight 2)
	    (Segment "" (
	      (Front ((Polyline ((-0.659967 -0.547749 0) (-0.645422 -0.5435 0) 
		  (-0.630878 -0.538782 0) (-0.616333 -0.533556 0) (-0.601788 
		   -0.527782 0) (-0.587243 -0.52142 0) (-0.572699 -0.514427 0) 
		  (-0.558154 -0.506761 0) (-0.543609 -0.498379 0) (-0.529064 
		   -0.489238 0) (-0.51452 -0.479295 0) (-0.499975 -0.468509 0) 
		  (-0.48543 -0.45684 0) (-0.470886 -0.444249 0) (-0.456341 
		   -0.430701 0) (-0.441796 -0.416163 0) (-0.427251 -0.400606 0)
		  (-0.412707 -0.384005 0) (-0.398162 -0.366339 0) (-0.383617 
		   -0.347595 0) (-0.369072 -0.327764 0) (-0.354528 -0.306844 0)
		  (-0.339983 -0.284842 0) (-0.325438 -0.261772 0) (-0.310894 
		   -0.237655 0) (-0.296349 -0.212522 0) (-0.281804 -0.186415 0)
		  (-0.267259 -0.159383 0) (-0.252715 -0.131487 0) (-0.23817 
		   -0.102795 0) (-0.223625 -0.0733877 0) (-0.20908 -0.0433551 0
		   ) (-0.194536 -0.0127964 0) (-0.179991 0.0181798 0) 
		   (-0.165446 0.0494557 0) (-0.150902 0.0809055 0) (-0.136357 
		   0.112395 0) (-0.121812 0.143785 0) (-0.107267 0.174929 0) 
		   (-0.0927226 0.205675 0) (-0.0781779 0.235869 0) (-0.0636332 
		   0.265354 0) (-0.0490885 0.293972 0) (-0.0345437 0.321565 0) 
		  (-0.019999 0.347977 0) (-5.45427e-3 0.373055 0) (9.09045e-3 
		   0.396651 0) (0.0236352 0.418623 0) (0.0381799 0.438837 0) 
		   (0.0527246 0.457165 0) (0.0672694 0.473494 0) (0.0818141 
		   0.487718 0) (0.0963588 0.499747 0) (0.110904 0.509502 0) 
		   (0.125448 0.516919 0) (0.139993 0.52195 0) (0.154538 
		   0.524561 0) (0.169082 0.524736 0) (0.183627 0.522472 0) 
		   (0.198172 0.517785 0) (0.212717 0.510706 0) (0.227261 
		   0.501282 0) (0.241806 0.489573 0) (0.256351 0.475657 0) 
		   (0.270896 0.459623 0) (0.28544 0.441573 0) (0.299985 
		   0.421622 0) (0.31453 0.399893 0) (0.329074 0.37652 0) 
		   (0.343619 0.351645 0) (0.358164 0.325414 0) (0.372709 
		   0.29798 0) (0.387253 0.269499 0) (0.401798 0.240128 0) 
		   (0.416343 0.210026 0) (0.430888 0.179349 0) (0.445432 
		   0.148253 0) (0.459977 0.116889 0) (0.474522 0.0854048 0) 
		   (0.489066 0.053941 0) (0.503611 0.0226323 0) (0.518156 
		   -8.3941e-3 0) (0.532701 -0.0390193 0) (0.547245 -0.0691334 0
		   ) (0.56179 -0.0986356 0) (0.576335 -0.127435 0) (0.59088 
		   -0.15545 0) (0.605424 -0.182609 0) (0.619969 -0.208851 0) 
		   (0.634514 -0.234126 0) (0.649058 -0.25839 0) (0.663603 
		   -0.281611 0) (0.678148 -0.303767 0) (0.692693 -0.324842 0) (
		   0.707237 -0.344828 0) (0.721782 -0.363727 0) (0.736327 
		   -0.381546 0) (0.750872 -0.398299 0) (0.765416 -0.414004 0) (
		   0.779961 -0.428686 0)))))))))))))))))
  (Segment "annotation" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "toplayer=1")))))
��


